




 
 
In case you’re confused about why I made a guess about the mobility: 
 
The reason that we have to guess at the value of the hole mobility in the above problem is that to find the 
number of holes, we need to know the hole mobility, but to find the hole mobility, we have to know the number 
of acceptors (and thus the number of holes). Since there are many different values of Na which all have roughly 
the same mobility, I chose to guess the mobility and see what Na I got as a result, and then looked up the 
mobility for the Na that I found. Since the Na I found yielded a mobility close enough to my guess, then I know 
that my guess was fine. 





 
Note: The value of the charge density in all three cases has the same peak values (-q*Na, and q*nD) 











 


